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Now, from Julius Caessr's time to the present, every civilized
Antiguity Scientist =nd Scholar has known that the Anclents had a
formula on how TIME created LIGHT, ewven though they never understoed it.

The Ancients dicovered that TIME traveled or moved in a set menner,
unlike the civilized who believed TIME was a reference peoint only to
any ziven event. These Ancients invented a devise which tracked TIME from
the Sun to Farth, when drawn out appeared like a giant Snake colling
on its journey, hence came the term: SERFENT or SERFENT PEOPLE.

Also in these Ancient writtings, the formula to the cycle of time
was translsted. 3,000(unknown) so they used the term YEARS. The caleculations
for one full day was 15(unknown)and 1f12 of an Atom, The reason they used
vears was because they translated 181 parts. In civilized thinking because,
of 181 parts, the 3,000 unknown had to be years, because 181 parts is
pretty closs to half a eivilized year.

S0, lets explain what it really means. Lets take the lflz of an Atom
and if we multiple 15 x 12= 180 plus 1(1/77)=181 1f12 Atoms. 8o one
complete civilized 2 hour day was 181 1f12 Atoms to the Ancient.

3,000 £ 15.08333 = 198.89507 days. This was the cycle of TIME but

: not for LICHT.
15. = 200. days. This was the cycle of LIGHT.

-=

3,000
Kow I must explain the Arab Barter System because to find the cycle

for LIGHT, the equation for TIME was used and the cycle of TIME, the

gguation for LIGHT was used.

2L hrs.(eivilized) * 181(Ancient) = ,13259669 x 6GHT;95§§?14dTinutes
civ ze

7.9558014 x 180(TIME ')=1432.0443 & 60=23.857405 hours. Time
7.955801L x 181(LICHT)=1440.0001 * 60=24.00002 hours. Light

Se, to get a detrimined duration on TIME you multiply by the TIME
equation, but divide by the LIGHT equstion to get the same znsuzr.

Now, from Julius Caesaws time to the present, every civilized'



Antiquity Scientist and Scholar' has known that the Ancients had a
formula on how TIME created LIGHT, even thougii they never understood it.
The Ancients dicovered that TIME traveled or moved in a set manner',
unlike the civilized who believed TIME was a reference point only to
any given event. These Ancients invented a devise which tracked.TIi‘/LE ilrom
the Sun to Earth, when drawn out appeared like a giant Snake coiling
on its journey, hence came the term: SERPENT or SERPENT PEOPLE.
Also in these Ancient writtings, the formula to the cycle of time
was translated. 3,000(unknown) so they used the term YEARS. The calculations
for one full day was 15(unknown)and 1/12 of an Atom. The reason they used
years was because they translated 181 parts. In civilized thinking because
of 181 parts, the 3,000 unknown had to be years, because 181 parts is
pretty close to half a civilizedyear.
So, lets explain what it really means. Lets take the 1/12 of en Atom
complete civilized Zh hour day was 181 1/12 Atoms to the Ancient.
3,000 -1- 15.08333 = 198.89507 days. This was the cycle of TIME but

not for LIGHT. 3,000 ‘T 15. = zoo. days. This was the Cycle of LIGHT.
Now I must explain the Arab Barter System because to find the cycle
for LIGHT, [hé equation for' TIB@ was used and the cycle of TIME, the
equstion for LICHT

So, to get a detrimined duration on TIME you multiply by the TIE/IE equation, but divide by the LIGHT equation to get the same
answer.



